tE L=

ks

(=7)214m

i R I

il

LI

(=19210m  (—11)180m

KT’

O [EFrie s
@ S

) sa—19)

—XFBhiRR
| 580m !

el <Y
E AR SY

s TR R o
- . (B% &)
s — 3 12 -

‘_:_ | — B 3 = (§ i)
5 — " (B &)
‘ﬁ:\ n # F OE (s

|i_~;.\‘: —— N #£ g B (B

<] FEETTEE———— (R2aMERER) (5

':1‘|

\ - N H OB B =

| — (munnmxm ¢

14

] —— o .o (B%

:F‘;/_:’ ______ /A\ 7~ % *ﬁ iﬁ (g

i;_; T N H O e ng_

) S (-10)
< 2 L
Y ssmmMoTh R

RE LS - A\ (e <

St y // —
%3‘5%%\ N 25 o PR

0
:
1
0
0

.

V12 % _

IEEEF#R0.7ha
HERR HPIER
1 # EE FAHh0.3ha

N BE A

iy, (8 &)

] . (B )
I Eﬁ%ﬁ%(% &)

REEA
0.9ha

IR GEFA#R3/6ha
(BELS-ER

ERASERE HPIER
RIBAEREFAHh0.2ha
EEAS - TEF Ath)

\—q,”',-:ﬂi__}/. T e ey N

(A6 8 AA0BEMIEH) /
XK 4 5.0 /
-
45
HHW 4.20 =
: 4.0
HWOST 365
35
EEEE MWL R "
M 30
W25
.. -
I
A = -
e W
T PEERE MLEL 1o M 1o
ZMTEERT  Lw0sT 05 [ g
-
ExwE C.O.L 000 M 00
FARIE
(L | ST o8 T )
R 01 i b e

RAREER

~~~~~ FHARNS (£8)
— E#I0%ELE SR oREMAE

(1 B24E M)
SRR - LM MRS LR

SR [y

fil
;fi WMEN : R4 E~FRieE

1EFEFAHE0.2ha
e (-3)0.1ha

o ENE LR
R\
< L E "';.0?
= - ESE
N 5%
A T
U W L SE =
e 15% ; L LT
== S s SsE W 0.30~0 48w
I—% 0.00~0. 20w
e o EME

B 75 S L BUR AT D L - LR IR W

0 1000 2000 3000m

B\«

RA4.1 B




